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1. Find the Fourier transform of signal:

x@)=(53%e‘z%msn)*(e‘%«r+3»bxef25(zoea

2. Find the Fourier transform of signal:

x(t) =t~ 20%)

3. Solve the following homogeneous differential equation with the

specified auxiliary
conditions: (20%)

Ey) _ e ~ . "
T3 a TO0=0, 50)=0, y(©0)=1, y0)=2

4. For a system A(z), the input x(r) = e_3tu(l‘) and the output y(¢) = e_tu(l‘)+e_2tu(l‘).

Determine the impulse response of its inverse system A" ) . (20%)

5. How many signals have a Laplace transform that may be expressed as

(s=1)
(s +2)(s +3)(s* +5+1)

in its region of convergence? (20%)




